o
[N

gt ~F
= u =0 15:— -----------------------------------------------
A = R T S F
IS) C T © T
v C T v Ok I
0.0t C P 1
0.05

o —0.4r :
IS r 1 :
o | R L -
08 [ 4 H 0.8F--------- -1 ¥ < B 3 B EREEEEEE TR, ------------
-1 2 3 —1 2 3
10 1 TPlpg)T (PCA t%obeamlinélf) 10 1 TPlpoT (PCA t%obeamliné[f)

—=— DQM_CKF_SoftQCD
—— DQM_mkFit_SoftQCD-
—— DQM_mkFit_SoftQCD-fixCloner

< 00, > (M)
=
o
<0d,> (um)
[o})
7

_lo ----------------------------------------------- o
20 i 1 S I e SUII
30 i | RN NUSO ~40fF------ e R (A1 REETETEIEE EETCICIEIED
—60F--------- IRREERED R R LT EE R
=40 i B IR R L EEE R R, r tr
o 5Ll sl . i L
= : : 5 : : :
3 E 1l
0.8 -------no 1 1 ISR SRR N
0.6f----+---11 HIFT A l
e H 0 . .
1 2 3 -1 2 3
10 ! TPlp?T (PCA t%obeamliné'f) 10 ! TPlp?T (PCA tjbobeamliné'f)
s T
> N = *
A I :
= +
o 0__"-"++ .........................
a” L
° C
Vv _l__ """""""""""""""""""""""""
7| mITEETTRPRU FRPIRPRLY Joil oo
_3:_ ................................................
_4:_ ............................................
P e | 3 B
f S| RRIEEERREE] EXE - Sh 5 (R EECIEERE S LIRERRY
@ L T
! S +l 0 SO ST
0.8l :

101 ' ' '2 3
10 1 TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


